

Steps:

1. Factor the denominator.
2. Identify restrictions (where is denominator = 0 ?).
3. Find the lowest common denominator, LCD (by multiplying the common factor(s) by the distinct factors.)
4. Express each rational expression with the same LCD (by multiplying each numerator by the factors in the LCD that are not in the expression's denominator.)
5. Add/subtract the terms in the numerator, keep the LCD (without expanding) as your denominator.
6. Factor the numerator, if possible, and simplify.

Mar 21-10:21 AM

$$\begin{aligned} \text{(b)} \quad & \frac{2x}{x-2} - \frac{x+4}{x-2} \\ &= \frac{2x - (x+4)}{x-2} \\ &= \frac{2x - x - 4}{x-2} \\ &= \frac{x-4}{x-2} ; x \neq 2 \end{aligned}$$

Mar 20-11:11 PM

$$\begin{aligned}
 \text{(b)} \quad & \frac{2x^2}{x-2} - \frac{x^2+4}{x-2} \\
 &= \frac{2x^2 - (x^2+4)}{x-2} \\
 &= \frac{2x^2 - x^2 - 4}{x-2} \\
 &= \frac{x^2 - 4}{x-2} \\
 &= \frac{\cancel{(x-2)}(x+2)}{\cancel{x-2}} \\
 &= x+2 ; x \neq 2
 \end{aligned}$$

Mar 20-11:11 PM

$$\begin{aligned}
 \text{c)} \quad & \frac{x}{x+1} + \frac{3x}{x+2} \quad \textcircled{1} \checkmark \text{ already factored} \\
 & \quad \quad \quad \textcircled{2} x \neq -1, -2 \\
 & \quad \quad \quad \textcircled{3} \text{ LCM: } (x+1)(x+2) \\
 &= \frac{x(x+2)}{(x+1)(x+2)} + \frac{3x(x+1)}{(x+1)(x+2)} \quad \textcircled{4} \\
 &= \frac{x^2+2x+3x^2+3x}{(x+1)(x+2)} \quad \textcircled{5} \\
 &= \frac{4x^2+5x}{(x+1)(x+2)} \\
 &= \frac{x(4x+5)}{(x+1)(x+2)} ; x \neq -2, -1 \quad \textcircled{6}
 \end{aligned}$$

$$\begin{aligned}
 & \frac{1}{3} + \frac{1}{2} \\
 &= \frac{1 \cdot 2}{3 \cdot 2} + \frac{3 \cdot 1}{3 \cdot 2}
 \end{aligned}$$

Mar 21-10:22 AM

$$(d) \frac{x+2}{x-2} - \frac{x}{(x-2)^2}$$

Mar 20-11:08 PM

$$(e) \frac{2}{x^2+x} + \frac{x}{x^2-1}$$

$$= \frac{2}{x(x+1)} + \frac{x}{(x-1)(x+1)} \quad \textcircled{1}, \textcircled{2}: x \neq 0, -1, 1$$

$$\textcircled{3} \text{ LCM: } x(x+1)(x-1)$$

$$= \frac{2(x-1)}{x(x+1)(x-1)} + \frac{x \cdot x}{x(x-1)(x+1)}$$

$$= \frac{2x-2 + x^2}{x(x+1)(x-1)} \quad \longrightarrow \quad x^2+2x-2 \text{ cannot be factored}$$

$$= \frac{x^2+2x-2}{x(x+1)(x-1)} ; x \neq -1, 0, 1$$

$$\text{OR}$$

$$x \neq 0, \pm 1$$

Mar 20-11:23 PM

$$(f) \quad \frac{2x-6}{3x+6} + \frac{x-3}{x^2+5x+6}$$

Mar 20-11:23 PM

Homework:

p.58 # 1c, 4c, 5g, 6ac, 10

p. 67 # 5c, 6ace, 8ace

Mar 20-11:27 PM